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Y : 3 gUe | [ qorta® o 100
Time : 3 hours | | Max. Marks : 100

frder : () WUe A Al Wvs T @ W 32 w7 3 sfFEE §)
(i) UAP UFT B P U > GO Afba F |
(i) WS TEGT 1 W S5 Q4T 17 ¥ 21 96 By 3 o Swly unH § | uRS v 1 I
FT § | UG @Y ST GRIRA: Uh argd § a1 20 Tt wes R WA g
(iv) We WEGT 6 W 10 TAT 22 W 26 TP B WA T IaGI ¥ | WD W 3 3P BT 8|
TP I3 $I I0R TG 60 el | Al wdl €y afiy |
(V) WY G 11 W 13 YT 27 ¥ 29 O & U W) WY IINA 4| TG U 4 3 B
B yd® U @ IO FEFGE: 70 vl 9 afrd T8 @ vl
(vi) TS AT 14 ¥ 16 @ 30 F 32 §6 @ ueT 4 oudn | ndF T 6 e &1 2 )
AT 49 &1 IR JWIE: 100 IER) ¥ e |# g anfRv |
(vi) UEAT & ToR W v GEle 8 qu Y&E T & TR auwme Muila gl gl
gl B A 4 & Qe anfe)
(vii) Ter® U Q g ST 3T T T G¥d gl 1 U A A € 39 U qHy TR
q B
Note: (i) Allihe 32 questions in both the section A’ and 'B’ ave compulsory.
(1) Marks lor questions are indicated against eacli question.

(ii1) Question No. 1 to 5 and 17 to 21 are very short answer type questions carying ! mark cach.
They are required to be answered in one sentence or within 20 words cach.
(iv) Question No. 6 to 10 and 22 to 26 are short answer type questions carying 3 marks cach,
Answer to them should not normally exceed 60 words cach.
(v) Question No. 11 10 12 and 27 10 29 are alse short answer type questions carrying 4 marks
cach. Answer 1o them should not normally exceed 70 words cach.
(vi) Question No. 14 o 16 and 30 to 32 arc long answer ype qusitons canying € marks cech.
Answer to them should not normally exceed 160 words each.
(vii) Answer should be brief and ¢lear to the point und above word limit be adhered to ax far as
possible.
(viii) Start [rom the first question and proceed to the last. Do not waste tume over a question if you
cannot solve it.
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s — ‘I’ (Section - ‘A’)

1. a9 @ 9 3 S Bt R 7 1
Why does the problem of choice arise ?
2 IWHIET B g9 9T W A T FEIA § ? !
What do you mean by the budget set of a consumer ?
3. & dEr Seaifiar g et @ a9 gd suafar P i 9 ol R - 1
When 'marginal utility' is zero, then in following, the 'total utility’ is -
i g9 (i) arferpan (i) ~TaH (v) FEOTD
zero maximum minimum negative
4.  OHET BAT T & 7 1
Whatisproduction function ?
5. IRt fod axg 99 & IR 0@ 9 e faddr &, e fsbare & wem suen @)
i 99 IR YT B A F ¥ ey & 1
If the market of a particular commodity consists of more than one seller but the number of sellers is few then,
in following. the market structure is termed as—
() USIRTBR (iy TR wftrafiar
monopoly monopolistic competition
iy gl witreet (v) FETRIBR
perfect competition oligopoly
6.  edoraedr & A FE FIRIA 1 Seora B | 3
Mention three central problems of an economy.
7. W g Frd @t fiwar @ ? 3
Why does demand curve slope downwards ?
8 RETTH aRei AR 1@ ol @ dra s i 3
Differentiate between substitute goods and complementary goods.
9. T axg @ gfd # gfg @ A9 R gae| 3
Give three causes of an increase in the supply of a commodity, -
0. gof gferfrar & @ Rsivensll &1 Seo AR 3
Mention three featurcs of perfect competition.
1. A IeAfT @) SraenRen ¥ @ren By | 4
Explain ihe concept of marginal utility.
AT (OR)
412 (1AK) (2]

http://www.ukboardonline.com

wod duluopIeOo@ N Mmm//:diy



wod duluopIeO@ N Mmm//:diy

http://www.ukboardonline.com

TeRerdl 3 fIvayoT &7 T FHRA §U UGN & Aol B ARET B |

Explain the consumer s equilibrium using indifference curve analysis.

12. 1M @ wfewa @ A9 g W e & ? M P 930, Rer vd ued s o gHsisy | 4
What do you understand by returns to scale ? Explain the increasing, constant and decreasing scale of
returns.

13, SAEE B Ao ¥ w7 AN ® ? qWIEO 4
What does Producer’s Equilibrium mean ? Explain.

14, HT & HEd A B IRIRT BN 37 HF 79 FIer | ? TSR | 6
Definc price clasticity of demand. How is it measured 7 Explain

15. @ AN, AT AT AR AT A P IR T B RF o7 T | GHSE 16
Describe the relationship between total revenue, marginal revenue and average revenue diagrammatically.

Jq4ar (OR)  http://www.ukboardonline.com
=1 | dm oRadt arra aft o #ifdro—
ERICY l 2 3 4 5 6
Arga aRadt armE - 60 40 30 | 2625 | 28 35
From the following calculate marginal variable cost —
Cutput (Q) : 1 2 3 4 5 6
l Average variable cost : 60 40 30 26.25 28 35

16.  WRICH BIHT AT FIT [wS ¥ 7 A0 R g, wgert oma o fea R wefad s
g7 6
What is equilibrium pricc ? How demand and supplv affect the equilibrium price ?

Eus — ‘q° (Section - ‘B?)

17. = 4 9 foy @rel 987 Fed & 1
Which ofthe following is called “fiat money '~
0 e Al @ M @& Red i) 9@ 9B (iv) U 9%

currency notes gold coins cheque book pass book

18. ¥w X 59 P 8 7 1
What is Bank rate ?

19. =1 9 9§ o9, A g99 9gRY (mps) TEq AT ST 9gRT (mpe) H Ha 2 1
Which of the following s a relation between marginal propensity to save (mps) and marginal propensity io
consurme (Impe) -

() mpc=I+mps () mpc=mps @i) mpc=1-mps (¥} mpc=—mps
412 (IAK) [3] [P.T.O.
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yiRo® AT | @ g g 7
What is meant by inveluntary uncmployment ?
fageh Rfmy o= & @ a4 8 ?
What is the meaning of Foreign Excbange Rate ?
e sefoms 3R wafe v § s B
Differentiate between microeconomics and macroeconomics.
el TR, I iR Aeel T WG @ 4 9E S|
Distinguish betwsen gross domestic product and gross national product.
fraifore et afrfoa Arel-g waa A w0 SRR § 7
What is the dilference between planned and unplanned inventory accumulation
faefy ffrg TR @ & S TR’ |
State the main functions of loreign exchange market.
aiqre o S a9 @ afeiia #
Define halance of trade and balance of payments.
e s BT garRen B A P sl § SHArsy |
Explain the concept of inflationary gap with the help of diagram.
T gute B ufenfig AR iR 39 € g RYg 9Ty |
Define povernment budget and give its two mnain objectives.
Jeqar (OR)
el R § ARl Y T & 7 ud & -3 sarexd dfv |
What is direct ax and indirect tax, Give iwo exampies of each.
AHHTY WET N ERBR BN MO-TET B IALEDAT BNl &, TR
“{he fiscal deficit gives the borrowing requirement of the government’. Flucidate.
ST 3y ) T dve #1 ama faf @1 avis B |
Expiain the Income method of calculating National Income.
agafE Yo o qRuneT 2T a3 BT BT guid BT |
Deline Commercial Bank and explain its functions.
T (e " 9 @l A R P gue 5@ 6T 91 € 7 e Y |
What is meant by aggregate demand ? What are its inain components ? Mention.
344t (OR)
T T 7 SHST TOAT B DI A B 7 IAER wfgd FHEY |
What is Multiplier ? How is it calculared ? Explain with example.

HEKERREE
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